
Bracket, 6" Post
660-0186

Spacer, 13mm,
665-0059

SA camera base
(complete camera  
and cable not shown)

3x washers, #10 
610-0001

3x screws, #10-24x7/8
600-0088

Attach to the vehicle
using the mounting 
screws provided 
with the SA camera

SA Camera Mounting Post 
Installation Instruction Sheet

© Seon Design Inc. | June 2011 | All rights reserved.  
www.seon.com   Part Number: 700-0145 R001

Kit Contents
   

 

Bracket, 6" Post
660-0186

Spacer, 13mm,
665-0059

3x washers,#10 
610-0001

3x screws, #10-24x7/8
600-0088

1. Determine the location for mounting the camera. 
          Cameras must be installed with the cabling
          running through the spacer and post, and inside the 
          wall panels. 

3. Drill the screw (1/8”) and cable (3/4”) holes in the panel.

Installation Steps
   

 

5. Using 3 of the screws provided with the SA camera, 
          fasten the mounting post to the vehicle panel.
6. Draw the DVR cable through the spacer and 
          connect to the camera cable. 
7. Feed the cables back into the panel while 
          �tting the spacer and camera base to the 
          mounting post.

4. Thread the DVR cable from the panel hole through
          the post.

8. Using the screws and washers provided, attach the spacer 
          and camera base to the mounting post.
 9. Refer to the installation guide provided with the SA camera
          for further camera alignment and operation details.
 

*700-0145*

Instruction Sheet
700-0145 R001

2. Using the base of the post as a template, lay out the drilling pattern.


